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Find the determinant by Laplace and Sarrus’s
method :
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3. (a) T& AR T 4,800, 6 Fcrd HIHIT <15t
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A merchant borrows ¥ 4,800 @ 6% simple

. . |
interest and invests at 75% compound

interest, If the transaction is closed at the
end of three years, what is his gain ?

(b)mﬁaﬁﬁS%uﬁaﬁmﬁa@
% 1,200 1 Ihgf& AN T 573 B STAT
gfe =11 &1 AT GG 99 ki S g1 8

In what time a sum of ¥ 1,200 will earn

¥ 573 as compound interest at the rate of 5%
per annum if the interest is calculated

annually.
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A sum of money amounted to ¥ 3,576 in

2 1
4.5 years at IOE% simple interest per

annum. When will it be % times itself

at the same rate ?

(b) T 2,000 H 6 aNIA T MUKl BT 9%
qifties ®! R A I I T IS
SefF WA aifte | 7
Find the present value of annuity due of

F2.000 for 6 years at 9% per annum,
when it is paid annually.
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(6)

In a cash-box there are coins worth ¥ 64,
The ratio between ¥ 1, 50 paise and 25
paise coins as per their number is 4:5:6.
Find the total numbers of coins of each
denomination.

(b) 4 STEHt =7 12 R ThH FTH HI 8 HIL
qfdfed &M s 5 foq ® @ W
Hhd & | 2 ofeHt qur 4 SRd 10 ®UL
SfafT &m s fman foq ® SH &M
Hl FHTE FT Tha & 2 7
4 men or 12 women can do a job in 5
days by working 8 hours per day. In how

many days 2 men and 4 women can do
the same job by working 10 hours per

day ?
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50 candidates appeared in an examination

conducted by Public Service Commission
for the post of Deputy Collector. They
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(0)

(a)

(7)

secured an average of 47 marks each, The
average marks obtained by successful
candidates were 74 wherens the average
marks obtained by unsuccessful candidates
were 44, What percent of candidates were
successtul for the post of Deputy Collector 2
Teh QM aTel o 9TH 2 W il gH F | U
YR & g8 H 10% U ® de1 g6t § 20%
Ul ® | afe 9% e WehR %+ gy H F 90
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A milkman has two types of milk. In one
the percentage of water is 10% and in the
second the percentage of water is 20%. If
he takes 90 liters of milk of type I and 60
liters of milk of type II and prepare a new
mixture. What is the percentage of water

in this new mixture ?
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A pen is sold for ¥ 11 and makes the

same percentage of profit for which 1t
was purchased. Find its purchase price.
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